
■ 最大公約数が最も大きくなるような2数を線でつなぎ、その最大公約数を中央の四角に答えましょう。

55

50

146

16

①

最大公約数

70

9

4910

44

②

最大公約数

30

81

148

66

③

最大公約数

77

60

670

9

④

最大公約数

12

10

850

77

⑤

最大公約数

14

64

9049

10

⑥

最大公約数

21

9

1448

40

⑦

最大公約数

49

12

2233

6

⑧

最大公約数

6

25

1464

33

⑨

最大公約数

27

55

208

12

⑩

最大公約数

9

33

2414

20

⑪

最大公約数

49

56

506

8

⑫

最大公約数

最大公約数
年 組 名前

/1２



■ 最大公約数が最も大きくなるような2数を線でつなぎ、その最大公約数を中央の四角に答えましょう。

55

50

146

16

5

①

最大公約数

70

9

4910

44

10

②

最大公約数

30

81

148

66

6

③

最大公約数

77

60

670

9

10

④

最大公約数

12

10

850

77

10

⑤

最大公約数

14

64

9049

10

10

⑥

最大公約数

21

9

1448

40

8

⑦

最大公約数

49

12

2233

6

11

⑧

最大公約数

6

25

1464

33

3

⑨

最大公約数

27

55

208

12

5

⑩

最大公約数

9

33

2414

20

4

⑪

最大公約数

49

56

506

8

8

⑫

最大公約数

最大公約数
年 組 名前

/1２


